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genfeial & forv A3 —

Instructions for the candidates :-

1.

el OMR ST U5& WR YT U YRAST HHIE (10 3T &7 ) 3@ ford |
Candidates must enter his / her Question Booklet Serial No. (10 Digits) in
the OMR Answer Sheet.

oRIeTTeff AATHI 370+ TTea] H B IR S |

Candidates are required to give their answers in own words as far as
practicable.

SN AR IR R A 8 3fe Yurie fAfds &vd 2 |

Figures in the right hand margin indicate full marks.

Ul Bl YD UG & oy et &1 15 e &1 sifiRad wwa faar am 2
An extra time of 15 minutes has been allotted for the candidates to read the
questions carefully.

IE UTH—UF qI WUS| H B, WUS—3 Ud WUs—d |

This question booklet is divided into two sections: Section-A and Section-

B.



6.

QGus—3 H 100 IS U ©, NH F Bl 50 Ul &1 IR < | UAD Y7 b

foru 1 afp FuiRa 2| 59 981 ey &1 Suater I v OMR e & feu v
fdmeq &Y el /BTl 9fcl U9 | WG BY | 50 AT I IMfed U1 BT IR o Bl

Reyfr # uem 50 Ul &1 & oAidbA fHar S| fae ff UPR & @R /R

gl /oS /ARG M & OMR SR GRA®T § YART BT F41 8, AT URIed
aRuTH =T BT |

In Section A, there are 100 Objective Type Questions, out of which any 50
questions are to be answered. Each question carries 1 mark. For answering
these darken the circle with blue/ black ball pen against the correct option
on OMR sheet provided to you. If more than 50 questions are answered,
only first 50 answers will be evaluated. Do not use Whitener / Liquid / Blade
/ Nail etc. on OMR Sheet, otherwise the result will be treated invalid.

gus— g H 30 TSI WA B, o ¥ gl 15 T @ SR Q1 Sffard T
Tdd U & fov 2 3fd MeiRd 2| s9@ IfaRed 39 wWovs # 8 TIY STRig UeH

§ fev 77 & R I =t 4 gt &1 SR <1 sifard 21 uR¥e e @ g 5
i fuiRa 2

In section-B, there are 30 Short Answer Type Questions, Out of which any
15 questions are to be answered. Each question carries 2 marks. Apart from
these, there are 8 Long Answer Type Questions, out of which any 4
questions are to be answered. Each question carries 5 marks.

el TRE & FAIS® SUBRYT BT YA Yo aifa 2|

Use of any electronic device is strictly prohibited.




EUs—3 / SECTION-A

q¥f-%s YT/ Objective Type Questions
T3 G 1 W 100 6 b UAD U B A IR Jdwey fav v & o9 H 9 e

HE T U RT g4 T e fadwey @ OMR fie R fafed ax | &= 50 wesit &

IR T [50x1=50]

Question Nos. 1 to 100 have four options, out of which only one is correct. You

have to mark your selected option, on the OMR Sheet. Answer any 50 questions.

3.

[50x1=50]

o= 5 | e AT Iy | gftafora § ?
(A) Y (B) S&inT

(C) RRrerr (B) s w1

Which of the following is included in plan expenditure ?
(A) Agriculture (B) Industry

(C) Education (D) All of these

YRA ¥ qofc fbadl @ & g U fdbar Sirar 2 2

(A) famer (B) BHmE!

(C) wfer @ (D)5 a8 W

The budget in India is presented after what period of time ?
(A) Quarterly (B) Half yearly

(C) Every year (D) 5 years

Oradl GEaui AT BT HRIDIA fdhd- a8l BT 8T ?
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(A) < ad (B) TR ¥

(C) ufar 9 (D) &7 ®1g el

What was the duration of the fifth five year plan in years ?
(A) Three years (B) Four years

(C) Five years (D) None of these

Ui 3761 I ATad 99T fhg =Ty Aol BT ST o7 ?

w

(A) rcdr (B) 3raat

(C) rat (D) s @1g el

Which five year plan aimed at universalizing primary education ?
(A) Seventh (B) Eighth

(C) Ninth (D) None of these

A & 5y Feee & T8d ds AR G Q¥ &I diibe i f[davor IR

FA T ?
(A) =T 110 (B) 31551 111
(C) 3 =T 112 (D) 3 Tzg 202

Under which article of the constitution the central government prepares the
annual Financial Statement of the whole country ?

(A) Article 110 (B) Article 111

(C) Article 112 (D) Article 202

f=ferRad # &9 R—AorFT =g T8 7 ?

(A) Rizmg ) o3 (B) 0l R =TS



(C) YU Wil &I ST <1 (D) HERIAT JaH
Which of the following is not non-plan expenditure ?
(A) Expenditure on irrigation

(B) Interest on loans

(C) Giving Food grains to earthquake victims

(D) Grant-in-aid

RrerferRad 3 @i ol <afied &1 e § ?

(A) & Ta § T (B) ST T a1 T
(C)wa <1 41 < (D) Retras

Which of the following is private owned organization ?

(A) BHEL (B) GAIL

(C) NTPC (D) Reliance

TE W A <wi H rawrie Tifafie Serfad ¥ 9Tl SEW $gdrd § 2
(A) RaF Tz (B) \rdwife Sem

(C) oot SeH (D) 3R @MaR

Enterprises that conduct business activities in more than one country are

called ?
(A) Global enterprises (B) Public enterprises
(C) Private enterprises (D) International trade

TSI SUhHAl BT Jau Td =01 fhas gef § gar 2 2

(A) DR (B) 31y



10.

11.

12.

(C) ¥ (D) Iroar

In whose hands is the management and control of public enterprises ?
(A) Government (B) Officer

(C) Bank (D) Politician

1 # ¥ o IoHod g1 @+ Bl el fHedl § 7

(A) FTESTS SUHHA (B) i SushA

(C) HgHT SuHH (D) 57 ®1g =&

Political interference is not seen in which of the following ?
(A) Public undertaking (B) Private undertaking
(C) Joint venture (D) None of these

T fIprT uRvye & T HIF 8Id § ?

(A) I B T (B) By wifgRYe & waw
(C) T=emiRa U=l & U ® (D) 377+ |

Who are the members of the National Development council ?
(A) Chief Ministers of the states

(B) Members of Union Council of Ministers

(C) Administrators of Union Territories

(D) All of these



13.

14.

15.

The Prime Minister is ex-officio .......... Of the Niti Ayog.
(A) Member (B) Treasurer
(C) Secretary (D) Chairman

e d=rayia T BT R Sevy o7 ?

(A) FfY Swre 7 gfg

(B) ST BT g7l

(C) SirefievoT & Ui &7 URT FAT

(D) 7 &+t

What was the objectives of the second five year plan ?
(A) Increase in agriculture production

(B) Dairy promotion

(C) Starting the process of industrialisation

(D) All of these

fep<y X157 & FTHIOT STaTel BT Hlerea waied § 7

(A) fdeR (B) fearael gawr
(C) Ramm (D) T4 @15 Tl

Which state has the highest percentage of rural population ?

(A) Bihar (B) Himachal Pradesh
(C) Haryana (D) None of these

SR &1 FeRar g% 9 fha=r gfaerg 8 ?
(A) 64 ufcrera (B) 70 ufcrera



16.

17.

18.

(C) 80 yfcrerd (D) 84 ufcrerd
Approximately what percentage is the literacy rate of Bihar ?
(A) 64 % (B) 70 %

(C) 80 % (D) 84 %

IRA H TEl $ [T T fhdT BRI 7 ?

(A) 20 (B) 22

(C) 25 (D) 30

The number of poor in India is approximately how many crores ?
(A) 20 (B) 22

(C) 25 (D) 30

9 gfa AT Mg 9 & a9 fHa ol H9g g 7 ?

(A) @7 (B) st

(C) shraa (D) 3775 @I Tl

How much accumulation of capital takes place when per capita income is
low ?

(A) Less (B) More

(C) Average (D) None of these

qRT FHAToT JST BT /=T S 8 2
(A) TTHIOT & H STERYS S bl ferHfor
(B) As® AT

(C) &%t &= H MR S T fHHior



19.

20.

21.

(D) 37 ¥ BIg 7Tl

What is the objective of Bharat Nirman Yojana ?
(A) Creation of rural infrastructure

(B) Road construction

(C) Creation of urban infrastructure

(D) None of these

IRA ¥ IERT T GREAT AR b ay - 137 ?
(A) 2012 (B) 2013

(C) 2014 (D) 2015

In which year the National Food Security Ordinance was introduced in

India?
(A) 2012 (B) 2013
(C) 2014 (D) 2015

A ifed § 9 S A1 ST [aifde AR UG $HRAT § 7

(A) T (B) ST =M

(C) &&= ST (D) 4 ®Ig &l

From the following which industry provides maximum employment ?
(A) Sugar mills (B) Dairy Industry

(C) Clothing Industry (D) None of these

fheT &3 B AR H fRRIGRT Facll o & 7 ?

(A) Ui e (B) fe<firas &=



22.

23.

24,

(C) St &= (D) 377 ®1E &
For which sector the share in employment is increasing ?
(A) Primary sector (B) Secondary sector

(C) Service sector (D) None of these

TIOT ST I TR AT &d URA & 4T ?

(A) 1998 (B) 1999

(C) 2000 (D) 374 ®Ig &

When was Swarna Jayanti Gram Swarozgar Yojana started ?
(A) 1998 (B) 1999

(C) 2000 (D) None of these

TR AT BT oA fd g1 =1 fbar o ?

(A) 3rcd fary aroruy (B) #HIE i

(C) T== (D) 7 ®1g Tl

Which Prime Minister started the NREGA Scheme ?

(A) Atal Bihari Vajpayee (B) Manmohan Singh

(C) Narendra Modi (D) None of these

T BT UIAIST B & 11 RBI @I 16T & a7 H_el Usdll & 2
(A) Fer it (B) =TT

(C) sraRafda (D) &7 &g el

What does RBI do to rate of interest to encourage savings ?

(A) Increase (B) Reduce

10



25.

26.

27.

(C) Unchanged (D) None of these

TR S &1 foq &3 H T9d &R far © 7

(A) sreremest (B) SrgsiemT

(C) Rrerm (D) |H ST HaT

In which field was Gunnar Myrdal awarded the Nobel Prize ?
(A) Economics (B) Research

(C) Education (D) Social Service

FERA &Td &4 I g1 7

(A) 1973 (B) 1974

(C) 1975 (D) 574 ®Ig ~TEl
When did the FERA Act come into force ?

(A) 1973 (B) 1974

(C) 1975 (D) None of these

TR SN & fov oesy &3 # ufafes ufd =afdd & forw fhas am=m § oo

eriRa g ?
(A) 2100 (B) 2200
(C) 2300 (D) 2400

What is the prescribed amount of Calories per person per day in an urban
area for poverty estimation ?
(A) 2100 (B) 2200

(C) 2300 (D) 2400
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28.

29.

30.

31.

q&T I & —

(A) Sreawer (B) fagw

(C) wEE # gfy (D) T =t
Inflation is -

(A) Chaos (B) Grudge
(C) Rise in price (D) Al of these

TN YT BT R g SR R fhar ordar g 7

(A) HART DI AT (B) 3

(C) ufar afda w1y IUMRT < (D) g77% |

On what basis is the poverty line determined ?

(A) Calorie intake

(B) Income

(C) Per capita monthly consumption expenditure

(D) All of these

HTAT &9 A FIT AU 7 ?

(A) IR ST 949 /FufT (B) 911 &1 / |ufl

(C) faxrad ¥ fyer o= /<ufy (D) &7H &g el

What is meant by Black Money ?

(A) lllegal money/property (B) Huge Money/Property
(C) Inherited money property (D) None of these
fforRad # | @9 9 a@ 91T & JaIfdd wRar g ?

12



32.

33.

34.

(A) $=oT (B) a1 AT

(C) YA T deuRal (D) 379 & |

From the following which factor influences demand ?

(A) Desire (B) Ability to pay

(C) Willingness to pay (D) All of these

R PI AT gAY BN B Fifh I9H FfaRRad T7o7 BT § —
(A) Sy (B) SwareH

(C) SuHrT (D) 378 @1g el

A commaodity is demanded because it has the following characteristic -
(A) Uitility (B) Production

(C) Consumption (D) None of these

ART & W H sudre 1 ugel favelyor fhast fdhar o ?

(A) 7Tt (B) firds=

(C) T e (D) 57 &g =&

Who was the first to analyze the exception to law of demand ?
(A) Marshall (B) Giffen

(C) Adam Smith (D) None of these

ST AHEla SUAIRTET 2T Bl § A1 gel SUAINTdT Bl 8 —

(A) =TaH (B) stferaa

(C) Rer (D) 57 & @Ig =&l

When marginal utility is zero, total utility becomes -

13



(A) Minimum
(B) Maximum
(C) Constant
(D) None of these

35. & frea &1 ddy fead g ?
(A) €T &7 g | (B) ITGH @ AT W
(C) frbet faRremarer & (D) s @I &l
Robert Giffin is related to which of these ?
(A) Vicious circle of poverty (B) Scale of production
(C) Giffen’s paradox (D) None of these

36. AT & fFam ffalad § 9§ w8l or] 8l 8ar § 2

(A) R gegell ) (B) 9890 I3 WX

(C) arframdt avgstt (D) &7 &

On which of the following the law of demand does not apply ?
(A) On Giffen goods (B) On valuables goods

(C) On necessary goods (D) All of these
37.  HRT B A/ Pl A= H FI9M fHaq ufererd fafer &1 ganr far o ?

(A) #reiet (B) firt
(C) g (D) 374 ®Ig el

Who first used the percentage method to measure elasticity of demand ?

(A) Marshall (B) Mill

14



38.

39

40.

41.

(C) Pigou (D) None of these
Sfdc ore ¥y 8 & YaT BT IRl © ?

(A) =Re® TaT (B) HITSIT &
(C) e g1 (D) & @1g el

Debit card is an example of which type of money ?

(A) Plastic Money (B) Paper Money
(C) Credit Money (D) None of these
Sd BHAR EHTH URIE § —

(A) TIH & w9 H (B) 1ar & w9 |

(C) U1 & Wi fag a9 & forg (D) sRiems & w9 #
Uday Kumar Dharmalingam is famous -
(A) As a Singer (B) As an Actor

(C) For making Rupee Symbol (D) As an Economist
AXIS ¥ &4 &3 & % BT e § ?

(A) TRBRY (B) frrsit

(C) faesh (D) &8 @1g el
AXIS Bank is an example of which sector bank ?

(A) Government (B) Private

(C) Foreign (D) None of these
fFrfeRad & | i 9fhT Aol 3 ey | 7 ?
(A) T 9 i sfear (B) USTIE <M §&

15



(C) Rord da site g (D) 374 ®I$ &
Which of the following is the apex body of banking organizations ?
(A) State Bank of India (B) Punjab National Bank
(C) Reserve Bank of India (D) None of these
42,  ¥RAR SN B rEdlad & o1 DI F0T UGH Bl & 7

(A) IR Sfenfire foa s (B) WEHRI d@
(C) wrfia Rord g (D) 571 &g =&
Who provides long term loans to Indian industries ?
(A) Industrial Finance Corporation of India

(B) Cooperative bank

(C) Reserve Bank of India

(D) None of these

43. IR & IS BT &I Har Reyd 7 ?

(A) feett (B) PIeTeprdr

(C) 3% (D) s PI Te
Where is the headquarter of RBI situated ?

(A) Delhi (B) Kolkata

(C) Mumbai (D) None of these

44, fac=h =R 4 anféfe Hdy gam & —
(A) BT a1 B I (B) &I <= & 9™
(C) <1 Rreli & 4= (D) 37 ®1g eI

16



45.

46.

47.

In Foreign trade there is economic relationship -
(A) Between two states (B) Between two countries

(C) Between two district (D) None of these

WAAAT g4 YRA AlCITsiod, gaT Ud 79 &7 fFrfaRaa 9 | @ &xar o ?

(A) ST (B) smard

(C) frata (D) 7 ®Ig Tl

What was India doing prior to independence with regard to Motorcycle, drug

and machinery ?

(A) Production (B) Import
(C) Export (D) None of these
eSS AMhdTdl HT Hael fe T 4 7 ?

(A) ST (B) e

(C) wra (D) g4 @I 7
Gottfried Achenwall belongs to which country ?

(A) Germany (B) Italy

(C) France (D) None of these
FiRerar sriwe fret § 9 f5a =dl | ura 53 o 8 2
(A) Trrfis (B) fe<iras

(C) (A) 3R (B) &I (D) 571 ®1g el

Statistical data is obtained from which of the following sources ?

(A) Primary (B) Secondary

17



(C) Both (A) and (B) (D) None of these

48. YERM o RBI ¥ {69 ug w® o ?

(A) wfera (B) rsTezEr

(C) TaR (D) 3% g =&l
What position did Raghuram Rajan hold in RBI ?

(A) Secretary (B) Treasurer

(C) Governor (D) None of these

49. fOI® SNids & Adhad H e FeRT foram ST & ?
(A) TOTTRR G EEANGRZIS
(C) srefema (D) g4 ®Ig &l
Whose support is solicited in the collection of secondary data ?

(A) Enumerator (B) Published sources

(C) Economist (D) None of these

50. refed | SfhIT YOS BT GeTed B HRal § ?

(A) fa #3Tera (B) fa<r \fra

(C) 3R & g (D) g ®Ig &l

Who operates the banking system in the national interest ?
(A) Finance Minister (B) Finance Secretary
(C) RBI (D) None of these

51.  TdHR @ R B USH FHRaT & 7

(A) =T 95 (B) 98BN dF

18



52.

53.

54.

(C) &reaie & (D) 374 ®Ig el

Who provides locker facility ?

(A) Central Bank (B) Cooperative Bank
(C) Commercial Bank (D) None of these

HIE B Fr=ferRad § 9 f&as siaild omar & 2

(A) TR IToTa Uit (B) TR—x IIoTa Uit
(C) ST (A) 3R (B) (D) 571 ®1g &

Court Fees comes under which of the following ?

(A) Tax revenue reciept (B) Non-tax revenue receipt

(C) Both (A) and (B) (D) None of these

Frafd—smaTa & Hafd AT &1 B9 A1 d96 AT FEIAT Y& Rl © 2
(A) TR S (B) 3= ¥

(C) @maaiie & (D) 374 @I$ ~TEl

Which bank provides financial assistance to people related to export-

import?
(A) Exim Bank (B) Central Bank
(C) Commercial Bank (D) None of these

IR BT AfFRTAT B MR R {1 Nt &1 FHeriRor &9 I db a8 ?
(A) o O KIESIRED
(C) TR (D) 579 ¥ pIg TEI

Which banks determine their policies according to market forces ?

19



(A) Private (B) Public
(C) Cooperative (D) None of these
55. Nold ¥ B g1l o WRBR & foIU 3T BT HIF 41 g § 2

(A) TR oG Uit (B) IR—&= I1oTa Uit
(C) (A) Td (B) =T (D) 577 @13 T
What kind of source of income is the profit from the Railways for the
Government ?
(A) Tax revenue receipts (B) Non-tax revenue receipts
(C) Both (A) and (B) (D) None of these
56. AT fd UBHR & Wi BT ISR T 2

(A) B ST YT (B) IR—x ST Ui

(C) goirrer mmfe (D) 377 PIE el

Fine is an example of which type of receipt ?

(A) Tax revenue receipt (B) Non-tax revenue receipt
(C) Capital receipt (D) None of these

57. f=faRaa & f&ad ardo=e SUSHl BT THITHR & 2
(A) TRHTT] FHofl (B) e
(C) Ye1d (D) T w+it
In which of following there is a monopoly of public enterpirses ?

(A) Nuclear energy (B) Defence

(C) Railways (D) All of these

20



58.

59.

60.

HHART g |7 A feEfolRad § 9 g SeeRo g ?
(A) ardsife forH (B) fauria SumhH
(C) A9y & (D) 574 @1 8l

Employee State Insurance Corporation is an example of which of the

following.

(A) Public Corporation (B) Departmental Undertaking
(C) Labour Corporation (D) None of these
OS] & U8l WRA ¥ G FITeTRad &1 Uhig IedTm a7 ?

(A) &oT (B) @i

(C) = (D) g7+ @I

Before Independence, there were frequent outbreak of which of following in

India ?
(A) Cholera (B) Plague
(C) Chicken pox (D) All of these

Al & 99T IR | fFrEferRaa I @ off ?

(A) Fr1 fara == (B) ST BT 31Ta

(C) arfrer (D) 3774 @4l

At the time of independence which of the following problems were prevalent
in India ?

(A) low growth rate (B) lack of industries

(C) llliteracy (D) All of these

21



61.

62.

63.

64.

RISTRIN T ¥ AU TR &I foa a7 g ?

(A) 3ma ifa (B) =g =iifa

(C) dsTc qur MI—<qy -ifd (D) §& &= +ifa

Which policy of the government is meant by fiscal policy ?
(A) Income Policy

(B) Expenditure Policy

(C) Budget and Income-expenditure policy

(D) Bank rate Policy

fra 99 9o YR BT TG BT ReR WaT &1 16 &1 AT © ?

(A) 2035 (B) 2040

(C) 2045 (D) 379 I3 el

By which year the target has been set to stabilize the population of India ?
(A) 2035 (B) 2040

(C) 2045 (D) None of these

GDP & 3M¥R TR WRY 3rferarer favg § 39 & wIH R 8 ?

(A) Fter (B) dferar

(C) vodf (D) Hrerat

What is the rank of Indian economy in the world on the basis of GDP ?
(A) Fourth (B) Fifth

(C) Sixth (D) Seventh

DI AT gEai Iror i 7 ?
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65.

66.

67.

(A) 12 o (B) 11 i

(C) 10 i (D) 13 &

Which five year plan is the last ?

(A) 12" (B) 11"

(C) 10" (D) 13"

e faer & faw & 8 & ?

(A)3 (B) 4

(C)5 (D) 6

How many sectors of economic development are there ?
(A)3 (B) 4

(C)s (D)6

f=ferRaa # 9 far Spot Exchange rate & I & SHT ST & 2
(A) §& < (B) fafmar <

(C) faesh faferma e (D) 374 @Ig &l
Which of the following is known as Spot Exchange rate ?
(A) Bank rate (B) Exchange rate

(C) Foreign exchange rate (D) None of these

URT BT T 98 ITaANID §b Hi9 a1 g ?
(A) ICICI (B) PNB
(C) SBI (D) BOI

Which is the largest commercial bank of India ?
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68.

69.

70.

71.

(A) ICICI (B) PNB
(C) SBI (D) BOI
IR H N ST AT & GO 69 gy ?
(A) 2000 (B) 2001

(B) 2002 (D) 2004

When was the second population policy announced in India ?

(A) 2000 (B) 2001
(B) 2002 (D) 2004
IRd #H o &g 9% © 2

(A) 1 (B) 2
(C)3 (D) 4
How many central banks are there in India ?
(A) 1 (B) 2

(C)3 (D) 4

o <ol 4 59 avg & W IR S 8 7

(A) i (B) forder

(C) Rerfasr= (D) 3774 @4

What type of poverty is found in backward countries ?
(A) Generational (B) Absolute

(C) Situational (D) All of these

gole g1 fohdaaT &F 8 ?
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72.

73.

74.

(A) 519 HATTT & (B) XeTd &1

(C) 3R t a1s &1 (D) fa<1 w11 B1
Whose job is it to make the budget ?

(A) Labor Ministry (B) Railways

(C) RBI (D) Finance Ministry
IR & Dad 9 BT 79 T 5 7

(A) CBI (B) SBI
(C) RBI (D) SEBI

What is the name of India’s central bank ?

(A) CBI (B) SBI
(C) RBI (D) SEBI
IRA BT JfTaReNT 5 UHR &F & 7

(A) TETSTETE (B) gotraral
(C) fafsra (D) 577 wft

What type of economy is India ?

(A) Socialist (B) Capitalist

(C) Mixed (D) All of these
feeh RfM R T @ AW @1 7 2

(A) HTel TaRTeIST X (B) Zdie TaRTUT ¥e
(C) wie vaterst IR (D) wWie TS X

What is the another name for foreign exchange rate ?

25



75.

76.

77.

78.

(A) Small exchange rate (B) Spot express rate

(C) Spot exchange ratio (D) Spot exchange rate

HAAM DI QN < H g AN fbar w7 ?
(A) 2006 (B) 2008

(C) 2009 (D) 2010

When was MNREGA implemented across the country ?

(A) 2006 (B) 2008

(C) 2009 (D) 2010

FERA @& 39 W &9 AT T HIA AT 4T 2
(A) FIMA (B) FERI
(C) FEME (D) FEMA
Which new law was brought in place of FERA ?
(A) FIMA (B) FERI
(C) FEME (D) FEMA
PR P fHd g § ?

(A) 2 (B)3

(C) 4 (D) 10
How many types of tax are there ?

(A) 2 (B) 3

(C) 4 (D) 10

ST TH & fbg RE BT R T 7
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79.

80.

81.

(A) gcaet (B) stucae

(C) Vfemw (D) &7 &g el
What type of tax is GST ?

(A) Direct (B) Indirect

(C) Optional (D) None of these
AMIRTEG R R Td fHhdAHT ISR | 2

(A) SfdRTa @ (B) AT <19

(C) Wt =3 (D) (B) Td (C) zmi
Expenditure on social security is an example of ?

(A) Personal expenditure (B) Social expenditure
(C) Government expenditure (D) Both (B) and (C)
s el wiie &1 U {6 GEauiy grorr § ol T 7

(A) 9o (B) fa<ia

(C) T (D) T

In which Five year plan was steel plant in Bhilai established ?
(A) First (B) Second

(C) Third (D) Fifth

Fgferd goic # T BT © 7

(A) B I = @ T (B) @ &g > @l M
(C) T ar < ot 9T (D) 37 B

What happens in a balanced budget ?
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82.

83.

84.

(A) Total expenditure = Total income

(B) Total expenditure > Total income

(C) Total expenditure < Total income

(D) None of these

99 A RIS B YN fhd d=Fauig A H g3 ?
(A) el (B) wigdt

(C) Bd1 (D) wrerdi

20 point programme started in which five year plan ?

(A) Fourth (B) Fifth
(C) Sixth (D) Seventh
TRT BT TG g7 FTaolf-h IUHH BT AT & 7

(A) STHER (B) dgeTAvS
(C) IR e (D) &7 &g el

Which is the largest public sector undertaking in India ?

(A) Post Office (B) BSNL
(C) Indian Railways (D) None of these
Aifgds Nfa & AETHE Su EfoRed § 4 o9 7 ?

(A) 35 <X (B) goT aToIR @ T
(C) TSI ol (D) (A) @I (B) €

Which of the following is a quantitative measure of monetary policy ?

(A) Bank rate (B) Open market operations
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85.

86.

87.

88.

(C) Public debt (D) Both (A) and (B)
AT+ &3 ® I Hiv AT ARMET &5 8 ?

(A) TR STt (B) Yoy

(C) =em (D) 57+ Y

Which area is reserved exclusively for public sector ?
(A) Nuclear energy (B) Railway

(C) Defence (D) All of these
fFeferRad # | foba <1 &1 folfTgura ¥ed W © ?

(A) = (B) xa

(C) ~yuret (D) et

Which of the following countries has most adverse sex ratio ?
(A) China (B) India

(C) Nepal (D) Sri Lanka
T folfgura wRd & 38T 7 ?

(A) e (B) ~rTct

(C) =IMR (D) T =t

Whose sex ratio is better than that of India ?

(A) Sri Lanka (B) Nepal

(C) Myanmar (D) All of these

SFTOMT 2011 @ IR ARA &l A R fba av g ?

(A) 66.1 (B) 65
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89.

90.

91.

(C) 70

(D) 85

As per census 2011 what is average age of India ?

(A) 66.1

(C) 70

I0 gfg & HRUT § —

(A) 3 et

(C) ®rel Iy

Reason for price rise is -

(A) Economic policies

(C) Black marketing

H2qd el b URTE & —

(A) BT RIgid & dRU

(C) 919 AT Fadidh & BRI
Mahbub ul Haq is famous for -
(A) Because of price theory

(B) Due to Income theory

(B) 65

(D) 85

(B) Scured # fRmac
(D) 377H I

(B) Decline in production

(D) All of these

(B) 3ma Ryglid & SR
(D) s @IS =&l

(C) Due to Human Development Index

(D) None of these

Ad fdhT GAHIdh BT IMER T § °

(A) e, e, ISR, Siad WX (B) @red, e, o

(C) wrey, e, Sfiad—wR

(D) fRreqT, SRR, Sia-—%R
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What is the basis of Human Development Index ?
(A) Health, education, employment, quality of life
(B) Health, education, employment
(C) Health, education, quality of life
(D) Education, employment, quality of life

92. fhd IR B IRA BT MRS IS FHET ST 7§ 7
(A) freeht (B) 5

(C) SHagR (D) ge=
Which city is called the financial capital of India ?
(A) Delhi (B) Mumbai

(C) Jaipur (D) Patna

93. 2011 I SIHTUMT & AR 6 9 AR a7 ¥, 9Rd H Ul 1000 oSl W gl

B AT fha B
(A) 914 (B) 916
(C) 918 (D) 37 ®1g el

As per the 2011 census In the age group of 6 years, the number of girls per
1000 boys in India is -
(A) 914 (B) 916
(C) 918 (D) None of these
94. AP UTHIT MMETE] § TN &% b T H gof o T ?
(A) faER (B) S
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95.

96.

97.

(C) Tt (D) Hea U

Which state has recorded the highest growth rate in rural population ?
(A) Bihar (B) Odisha

(C) Goa (D) Madhya Pradesh

S BT R IAMETET BT 9T fha=n gfererd f[9gR 4 ey aar & 2

(A) 6 gfererd (B) 9 yfererd

(C) 15 ufcrera (D) 57 ®1g &

What percentage of the total population of the country approximately
resides in Bihar ?

(A) 6 % (B)9 %

(C)15 % (D) None of these

qeA # TS faerT uRyg & sremer B € ?

(A) = Al (B) rcfrer HAR

(AU (D) a1fda wmE

At present who is the chairman of the National Development Council ?
(A) Narendra Modi (B) Nitish Kumar

(C) Draupadi Murmu (D) Amit Shah

AT Td gl § qRade & BROT Iq~ RIS HEARIT § 2

(A) =1 (B) HrerHl

(O ERIED (D) GYUTcHS

Unemployment generated due to change in demand and supply is called?
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98.

99.

100.

(A) Cyclical (B) Seasonal
(C) Technical (D) Frictional
SHRIGICA Td &Hc & I8 & dras[a ISR el e, I Al RIS 8 ?

(A) forfera (B) TvITHS

(C) HrgHt () ESIE

Which type of unemployment is not getting employment despite having
efficiency and ability ?

(A) Educated (B) Frictional

(C) Seasonal (D) Technical

Ul 3Rgel MR IMYfds | (AIIMS) Rerd g ?

(A) T2 feceft (B) wRIETaTE

(C) T=Tra (D) g7 @I 7

First All India Institute of Medical Science is located at ?

(A) New Delhi (B) Faridabad

(C) Gudgaon (D) None of these

faeeh IR & SIRY SR (&) B IGA—dGall DI gl Haalil o—

(A) fas= fafma (B) garer

(C) frger (D) 579 ¥ I3 eI

The phenomenon of exchange of currency through international trade is
called -

(A) Foreign exchange (B) Hawala
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(C) Investment (D) None of these

uvs—9 /Section-B

o9 Sa3ig 93/ Short Answer Type Questions

U W 1 ¥ 30 O% oY ST B | 3 9 fHEl 15 Ul & SR G| TS U

fory 2 ofg FruffRa ¥ (15x2=30)

Question nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1. TRE B UBAE B b gl N gdly | 2

Mention two ways to identify Poverty.

2. goic B I ST BT ford | 2

Write two objectives of budget.

3. UNPNI dolc & hIF—dhiF F Ueh B & 7 2

What are the components of the government budget ?

4. T BT Y HGT AT 7§ P 2
How is poverty measured ?

5. @R Bl U Teal H GRATT PN | 2
Define tax in your own words.

6.  IoTRINIT I H AT T rqudi bl ford | 2

Write two components included in Fiscal Policy.
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10.

11.

12.

13.

14.

15.

16.

17.

qolc BT I 9 T © 7

What is the main part of the budget ?
T SUsHH & o7 3R QI T 7 ?

What are the merits and demerits of departmental undertaking ?

TRERT BT B fIeIwar 9 |

State the features of government company.
Aifad AT a7t 7gquot © ?

Why is monetary policy important ?

qTdoTh SUYHHAT B AIoNDROT F =T I © 2

What is meant by privatization of public enterprises ?
TRIAT BT &7 SR DI FaTg |

Mention two causes of Poverty.

Iod gfg & RO g7 § ?

What is the reason for the price hike ?

TERDIT BT A Tea] H Fad D |

Express inflation in simple words.

IRA ¥ g gfg & aRom™ a1 7 ?

What is the effect of price rise in India ?

ST Hifd 2000 B &1 g fqRredrd @ g ?

What are the two main features of population policy 2000 ?

IR # g faerss uRyg @ar & ?
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18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

What is National Development Council in India ?

AT IUHH AT FRA & T R ©§ 2 2

What are the reasons for setting up a joint venture ?

PBTAT & DA STHT BT & 2 2
How is black money accumulated ?
arferres # gfl & @ emery ® 7 2

What is meant by supply in Economics ?

YRA | BT Bl A & oY g91¢ 7Y fh=2l &1 BIAT B Ferg § =i |2

Discuss in brief any two laws made to curb black money in India ?

T & gsash 9 7 AT © 2 2
What is meant by vicious circle of poverty ?

Ired & A B gr ARy ford | 2
Write two characteristics of scale of production.

e § gRads &1 7 ? 2
What is change in stock ?

WTO &T 3eeg &1 & 2 2
What is the objective of WTO ?

I faer™ §& | ® AW 7 ? 2

What is the benefit of land development bank ?

TEHN] Sbl F BATel &I o] &l ford | 2

Write two advantage of co-operative banks.
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28. IRZD! & T BRI T T ? 2
What are two functions of statistics ?

20. WiRea@T @1 A faerEamell & ford | 2
Write three characteristics of statistics.

30. fa<sh =IR @1 1 AE2@ © °? 2

What is the importance of Foreign trade ?

4" Sa9a 939 (Long Answer Type Questions)

U3 AT 31 | 38 TP <" SR U 2| 398 A fhal 4 U @ SR | AP U
% forg 5 3fw iR 2 | (4x5=20)

Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4 of them.

Each question carries 5 marks. (4x5=20)

31. 9T &Y org 7 &1 faferat &1 goia oY | 5

Describe the methods of measuring elasticity of demand.

32. YNd P MATT—aid & HSl TR UBTI Slai | 5

Throw light on the items of Import-Export of India.

33. fgdae offesl 9 @7 998 & ? S USd &x9 © A~ &l @ IR H§ 9d9f
BT | 5

What do you mean by secondary data ? Discuss the various souces of

collecting it.
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34.

35.

36.

37.

38.

ARG §F & TG Bl BT gor N | 5
Describe the main functions of commercial bank.
HRT ah T 8 ? /I G D A DI AR P D RO DI fad==1 BT | 5

What is demand curve ? Discuss the causes of downward slopping of

demand curve.

JMRf® FHRT 1 &, I8 AT I~ Bl &, IR & Haw H Il DY ? 5
What is an economic problem, why does it arise, discuss it with reference to

India ?

frd 2o & fTT SFIT T T HEd © ? 31T Hded SIfvTu | 5

What is the importance of population for a country ? Give your opinion.

TR IS & oy YRA WRGR gRT 3@ T6 FATg Y AR & Fdl BTy |5
Discuss the schemes run by the government of India so far for poverty

alleviation.
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